0590 00000ODO20030 600

goooooboooooobooo

Grid RPCOO0OO0ODOOOO0O0DOO
oo oo

1 000boobododgn

gboooooboboobobobobobboboon
00000000000 0O0O0OOO0DONetSolve O
Condor00O0O00O0O0OODOOOOOCOODOOOODRODOO
goboobobooboobood

2 NetSolveOODODODOOODOOOOOODO

NetSolve 0000 DOO00OODOServer 00O O0DOOO
O00Agent 00 Server 0O0OO0D0ODO0O Server0 00O
000oooooooooooooooooooood
00000000000 0000000ONetSolve 1.4.1
0 NetSolve 1.5 00 00000000000O00O0OO

0000000000000 00ONetSolveO OO QOO
O0OClent0000O0OO0DOOOOOO0OOOOOOOO
000o0O0dOServer 00 O0O0OO0O0OO0OODOOOOO
RPCOODDOOO0ODOOODOODOOODOOODOOODOO
goooad

Gregor System 000 0000000000O000O0
O000OO0OO0OO000000DOOFastEthernet 100Mbps
00oo0oooogRrpPCO 160000000 ODOOOO
goooobobooobboo 1ooooboooboon
O00000000000000 Fig. 1(a)DO00O0OO
0000000000000000 Fig. 1(b) 0000

1800 ]
= - == NetSolve 1.5 | G 801 === NetSolve 1.5 =<
3 1400 2 2 .
1200 R
£ 1000 £ s rd
T 800 B
3 & 40 -
a 600 2 5 7
L 400 = 7
% a0 o s
——— 10 7
e o
0 200 400 600 800 10001200140016001800 0 200 400 600 800 10001200140016001800
Number of RPCs Number of RPCs
(a) Blocking (b) Nonblocking

Fig. 1 Overhead of NetSolve on cluster environment
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Fig. 2 Overhead of NetSolve on Internet environment
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